I KELLERGESCHOSS

NAME OBERFLACHE (m2)
Haustechnik 11.65
Vorraum 15.16
Wein 5.71
Keller 3.11
Keller 12.58

Loftungséfinung 3.30m?

HAUS 5




ERDGESCHOSS HAUS 5

L NAME OBERFLACHE (m2)
Rampendach7| - Vorplatz 2.93
s Vorraum 6.77
Wohnen 23.52
Garten 73.04
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ZWISCHENPODEST HAUS 5

NAME OBERFLACHE (m2)

Essen 11.05

Kochen 20.98
Gang 6.77
VR 2.35
WC 2.22
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frz. Balkon
a=2,93m?
Beton

OBERGESCHOSS HAUS 5

NAME OBERFLACHE (m2)
Gang 5.15
Gang 2.17
Gang 6.70
WC 2.17
Bad 5.63
Master Bad 20.84
Zimmer 12.68
Zimmer 14.45
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g2 Terrasse
N |a=4,27m?
Stein

PH 00

DACHGESCHOSS

NAME

OBERFLACHE (m?2)

Zimmer

18.43

Schrank

8.90

Terrasse

4.27
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Symbolische Darstellung
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